afex/

L:Q C ”(i/a{ [ e

) More  on M OSEETs 5r NROS [rans,

P L
Yavauly

055 7 V- Vg €0V 0 1, = 0
W[,/ ”*,[(7 , Uﬁ( U/ / O/ & on ({ ff]ff g/?“ﬁ; / 2/1) ¢

- Y, i Vs Ny

Satucetion: V=t 2 0V and Vi~ Uy © U

;D‘ C" >(U£s' ?/ﬁ Z

QJ ﬁ":}’? ﬁj{} ; f‘j/? ";/j‘ & (/L ng‘« I/

(Q A\SJ(M me ah ﬂ/ﬁel//i r/—/ s g///? /C
J/

@) 0/96?!«'; Cilciel / (t /;m ¢ !// Y

£ J Y U T AR
© Perforrm o bC @aalys)s To Ty V(’M bs Ly

.

@> U{jr;)ﬁ\ O Qé’ff{?’él’/zf stote.
[ operatiay




CTOPS

67\&“@19{\ ,Z F’/\HOQ &’WDl;nf
(o) (OV

Ve S R glﬂf«, - Re ;/()p‘n{
I@V—‘_Z - i e /UOQT
c Luck [
e SRR - TN U= 1V
et —i— = Ky = 2S/aﬂ/uz
== D

S open cirenlt € and Ao a DO analysis o Fiad
O/ber&‘Hn\? MOL{)Q (P,M(Q Z/&g ) UIM) ZD |

Q-PML 0/>era’(’)n7 St 7 chosse ' Saturaton
> Fy 2 ékh%%)i%g "Uf,\ol*'—? ;QOM'% »’76600 to lnow  Upy 1o sdve]

LoV JoV

Vg, /)
R | kn %
! l/S

—_— —

/

Te= 08 — . U2 D o 5 10 __L.,> = 51/
Rt B

V&5:5’0: St/ R

U= Uy = S—L =4V = 20U [, M, )5 on
= o e uas oA L, = OA

Ty= 45 (2sx58)iol(s=)" = 2 A

Up = 0= Ty Ry= Lo- (2x6  Naoo) = A, 8V = Ups
since Upg 2 U=y = Tn Saturation |
S Q-peiat! Ugsz SU, Vg = 98V, Tpz 2mht




|

CTOPS

EMW(dﬂl ) F:\n& ‘L’Ae, Ol=i 700)\(‘1“" v
LV |

/ W
=25 uAVE, T =0

AS)L(%Q/ Saﬁu’z{ IDR ;/141)/(@/ &np( M(ve,‘

\/G,fzo,x_)~ 0.4V =V

10+
V(Tg “VTM = f‘”"’( = "'&07V 2101 1 b o §F
Q~Pornt Vpg= 0,91V, Vo= 0V, Z)=0A

Example 30 Ejad the 0-Polat
WV LoV

| %lk\m S(MJ\,

J i 4 =
M V= V) Kn22Sublys ' =00
Re S o

-

Assume. Sa%um{‘/w modle and  s4lve

Vo = IO(L >, Q,090V
tlo

Up ~Ury = 20012 9.020 >0 ., M, i on
| ioi Jikn/(%y%s'ufwl
= L (25158 0) 907 -1)°
= 2,18 mA
Up> 10— Ty Ry = (0= (31800 ° Xs00) = 5,91V = Uo;
Is Ups 2 V= U7 ¢ ul’ilgﬁ“’) U&s”uﬂ) = 8'”7(/"””‘4’%&'\)7’
SN E T QO_’f 1n Saturation mofde




| = sl

GTOPS

,IS U(7$~UTA) 7 Uy;

. Resolve  Sor’ Trivde mode
To = ko (4 (Vg Uy = % s
Ups = .09V Lrom  bedore
Ty 25w b10)/ 9,09 — = =) Uy
=% Sx/o 5 (8 09 — U‘)’S)Upg

nee& a. 2" Eo?q((+/0n

= Slace Up = U,u S MEI o

OP JD——‘ [0 — U/DS

e —

] - 500 SO0
1 é‘go (2‘}2}0 =& & SX/O %/3 09 — U“ =) Vne
St —;VL_, o Ly 02 X0 Um Fil ZSX/OV%UpJZ_
500 So0
O = 0,02‘%01X152Up5 € L,2SE Ups ™

use. ano()mﬁg Sormela so/w: S Ups

O thyteo =0 = Xx= ‘Liy ~'-h¢c

Ao Dos ‘f! %ozxzo | m . ‘[-//,?J)W 79)(0 02

l( 25 %0 F)

.3 "
o2 %0 L 2,48 X0
Oz sy lo s

\J

= el ol 06161 | S ruwait: )o%ys)m//\/ he 240
Thew Tp= 10 _ Blb = 748 mh

500 Ss0
. 8,08 > é,ZéV~97n Tﬂ‘oOQ& ""'0509—
?LO?U)i ()m:é,/éu) Ibz 7163”7/4

N

oz &—’}DDN”{“ ’ U&'S

|




